Narrogin Senior High School



YEAR TWELVE 2024

24 749 12 B

ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 15th December 2023 Using "7FMH" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

Your home delivery order will be dispatched no later than the week ending 19th January 2024 but where possible will be dispatched earlier, if placed on or before the cut-off date of Friday, 15th December 2023.

All orders returned on or before the 15th December 2023 will receive FREE Home Delivery. Orders can still be placed after the cutoff date, but there will be a late fee of up to \$12.00.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	YEAR TWELVE					
	COMPULSORY STATIONERY					
P54025	2024 Study Quest Senior Diary Yrs 11-12	1		1	10.50	10.50
P50183	Display Book A4 40 Pockets Black Refillable	2		1	6.15	6.15
	New students only to purchase this display file. To be used for Extended	Advocacy ar	nd will be ret	ained for all y	ears at NS	SHS.
P58510	Eraser Plastic Pencil Large With Sleeve	3		1	0.40	0.40
P51685	Glue Stick 40gm Artline Clear	4		2	2.75	5.50
P51464	Headphones Stereo Deluxe Lightweight with Volume Control	5		1	11.05	11.05
	Students are encouraged to supply their own personal headphones.					
P50135	Highlighters Pkt 6 Micador	6		1	5.45	5.45
P56095	Pen Ballpoint Cap Type Blue Medium	7		4	0.35	1.40
P56096	Pen Ballpoint Cap Type Red Medium	8		2	0.35	0.70
P56094	Pen Ballpoint Cap Type Black Medium	9		4	0.35	1.40
P50006	Pencil (HB) Micador Essential	10		4	0.35	1.40
P50208	Pencils-Coloured 12's Columbia	11		1	2.85	2.85
P56353	Protractor 10 cm 180 4" Half Circle	12		1	0.45	0.45
P50090	Ruler 300mm Wooden	13		1	1.10	1.10
P50161	Scissors 170mm Maped Plastic Handle	14		1	2.30	2.30
P51356	Sharpener Pencil Wave Double Hole	15		1	2.05	2.05
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	16		1	14.05	14.05
1 02000	USB is required for most Subjects, but only one is required. You do not no		ப ase multinle	•	14.00	14.00
	8GB of memory minimum core i3 or equivalent If unable to purchase, you may be able to lease through private prov	riders.				
	BUILDING AND CONSTRUCTION					
	High Visibility work shirt will be required.		_			
P55442	Display Book A4 20 Pocket Black Refillable	17		1	2.15	2.15
P56141	Pen Felt Tip Triplus Fineliner Black	18		5	2.30	11.50
P50006	Pencil (HB) Micador Essential	19		10	0.35	3.50
P60040	Safety Glasses Spectacle Unisafe/Honeywell	20		1	7.55	7.55
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	21		1	14.05	14.05
	CAREER & ENTERPRISE					
P55442	Display Book A4 20 Pocket Black Refillable	22		1	2.15	2.15
	CHEMISTRY ATAR					
P04888	Nelson AC Chemistry 3&4 (Print & Digital) [Smith et al]	23		1	90.95	90.95
	CERTIFICATE II & III BUSINESS					
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	24		1	14.05	14.05
	CERTIFICATE II VISUAL ART - GRAPHIC DESIGN					
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	25		1	9.55	9.55
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	26		1	14.05	14.05
1 02000	USB FUCKET FIASH DIIVE 32GB - NO RETURNS	20	Ш	Į	14.05	14.05
	CERTIFICATE II IN COOKERY					
P51902	Dividers Index A4 1-12 Tab Board Bright	27		1	5.75	5.75
P56328	Pocket Plastic A4 11 Hole Pkt 10	28	\Box	3	1.30	3.90
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	29		1	14.05	14.05
	DESIGN BHOTOGRAPHY					
P55439	DESIGN PHOTOGRAPHY Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	30		1	9.55	9.55
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	30		1		
. 52500	See Compulsory Stationery	31		1	14.05	14.05

Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	ENGLISH ATAR					
P34027	Good Answers ATAR English 2024 [ETAWA]	32		1	31.50	31.50
1 04021	Please note: Good Answers English will not be available until Term 2. If orders school. (Due Approx. May)		e your copy	=		
P55182	Botany Book A4 96 Page 8mm	33		1	2.40	2.40
P50183	Display Book A4 40 Pockets Black Refillable	34	\Box	1	6.15	6.15
	Retained from previous years, only new students to purchase		_			
P51509	Document Wallet A4 Polypick Heavy Duty Purple	35		1	8.05	8.05
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	36	<u> </u>	2	1.65	3.30
P58549	Flags Stick On Neon 25 x 76mm 5 colours Assorted	37		1	9.15	9.15
P56328	Pocket Plastic A4 11 Hole Pkt 10	38		1	1.30	1.30
	ENGLISH GENERAL, FOUNDATION					
P50183	Display Book A4 40 Pockets Black Refillable	39		1	6.15	6.15
	Retained from previous years, only new students to purchase					
P51505	Document Wallet A4 Polypick Heavy Duty Black	40		1	8.05	8.05
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	41		2	1.65	3.30
P56328	Pocket Plastic A4 11 Hole Pkt 10	42		1	1.30	1.30
	HUMAN BIOLOGY ATAR					
P34042	Creelman Exam Questions Human Biology ATAR 3&4 2024 [Peter Walster] (Due approx. March)	43		1	50.00	50.00
P30307	WA ATAR Human Biology Yr12 Revision Series (Revised Edn) [Ant Meczes]	44		1	59.00	59.00
P13290	WA ATAR Human Perspectives 3&4 (Print & Digital) 8E [Whan et al]	45		1	87.95	87.95
P50397	Lecture Book A4 140 Page Spiral	46	<u> </u>	1	4.00	4.00
	HUMAN BIOLOGY GENERAL					
	No textbook required.					
P50397	Lecture Book A4 140 Page Spiral	47		1	4.00	4.00
	MATERIALS, DESIGN AND TECHNOLOGY METAL					
P55442	Display Book A4 20 Pocket Black Refillable	48		1	2.15	2.15
P56141	Pen Felt Tip Triplus Fineliner Black	49		5	2.30	11.50
P50006	Pencil (HB) Micador Essential	50		10	0.35	3.50
P60040	Safety Glasses Spectacle Unisafe/Honeywell	51		1	7.55	7.55
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	52		1	14.05	14.05
	MATERIALS, DESIGN & TECHNOLOGY WOOD					
P55442	High Visibility work shirt will be required.	5 0		4	0.45	0.45
P50006	Display Book A4 20 Pocket Black Refillable	53 54		1	2.15	2.15
P60040	Pencil (HB) Micador Essential	54		10	0.35	3.50
P52086	Safety Glasses Spectacle Unisafe/Honeywell USB Pocket Flash Drive 32GB - NO RETURNS	55 56		1	7.55 14.05	7.55 14.05
			_			
P00713	MATHEMATICS APPLICATIONS ATAR	57		1	41.95	41.95
P00713	WA ATAR Maths Applications Unit 3 (Print & Dig)(Rev. format) [Sadler] WA ATAR Maths Applications Unit 4 (Print & Dig)(Rev. format) [Sadler]	57 58		1	41.95	41.95
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	56 59		1 1	281.95	41.95 281.95
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	60		2	1.65	3.30
	MATHEMATICS ESSENTIALS					
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	61		1	41.95	41.95
P55343	Compass Micador Self-Centering 140mm Safety #325	62		1	1.25	1.25
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	63		1	1.65	1.65
		- •	_	•		

Page 3

Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	MATHEMATICS FOUNDATIONS					
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	64		1	41.95	41.95
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	64 65		1 2	1.65	3.30
	MATHEMATICS METHODS ATAR					
P02233	WA ATAR Mathematics Methods Yr12 Textbook (Revised Edn) [O. T. Lee]	66		1	85.00	85.00
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	67		1	281.95	281.95
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	68	$\overline{\Box}$	2	1.65	3.30
	MUSIC					
P55446	Display Book A4 20 Pocket Green Refillable	69		1	2.15	2.15
P58510	Eraser Plastic Pencil Large With Sleeve	70	$\overline{\Box}$	1	0.40	0.40
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	71	$\overline{}$	1	1.65	1.65
P55910	Music Book 297x248mm 15 leaf/30 pages Spirax #567	72	$\overline{}$	1	4.10	4.10
P50004	Pencil (2B) Economy	73		1	0.50	0.50
	PHYSICAL EDUCATION STUDIES ATAR					
P06054	WA Physical Education Studies: A Resource for Yr 12 ATAR [M Heberle, C Middleton]	74		1	89.95	89.95
	PHYSICAL EDUCATION STUDIES GENERAL					
P06053	WA Physical Education Studies: A Resource for Yr 12 General [R Gaujers]	75		1	78.95	78.95
	PHYSICS					
P13175	Nelson AC Physics 3&4 (Print & Digital) (Revised Ed) [N Champion et al]	76		1	90.95	90.95
	PSYCHOLOGY					
P34032	WA ATAR Psychology Yr12 Study Guide 3E [Alana Wilson]	77		1	59.00	59.00
P34056	WA ATAR Psychology Yr12 Revision Series [Sonya Cerny]	78		1	59.00	59.00
	New Edition for 2024					
	(Due approx. December)					
	VISUAL ARTS					
P50117	Brush Oil/Acrylics Flat Bristle #777/577 /2	79		1	1.00	1.00
P50519	Brush Oil/Acrylics Flat Bristle #777/577 /4	80		1	1.05	1.05
P50121	Brush Oil/Acrylics Flat Bristle #777/577 /6	81		1	1.10	1.10
P55214	Brush Round Bristle #101/582/1600R/ 2	82		1	0.70	0.70
P55215	Brush Round Bristle #101/582/1600R/ 4	83		1	0.75	0.75
P55217	Brush Round Bristle #101/582/1600R/ 8	84		1	0.95	0.95
P56115	Marker Artline #210 Black 0.6mm	85	$\overline{}$	1	3.80	3.80
P56141	Pen Felt Tip Triplus Fineliner Black	86	$\overline{}$	1	2.30	2.30
P52001	Pencil (2B) Goldfaber	87	$\overline{}$	2	0.65	1.30
P52013	Pencil (4B) Goldfaber	88		1	0.65	0.65
P56677	Visual Art Diary A3 60 Sheet 110gsm	89	$\overline{}$	1	9.95	9.95

Please tick the items required in the box provided

Item Item
No. Reqd

Qty Unit Reqd Price \$

Total Amount \$

Office Use

Description

SIDE SUBJECTS

For Year 12 SIDE Requirements please see details below:

School Of Isolated And Distance Education (SIDE)

YEAR 12 2024

ALL ORDERS MUST BE COMPLETED

Online at www.campion.com.au by Friday 1st December 2023

Using "FGMQ" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

APPLIED INFORMATION TECHNOLOGY - SIDE

Applied Information Technology will be run by SIDE. Please refer to details above and SIDE booklist.

ECONOMICS - SIDE

Economics will be run by SIDE. Please refer to details above and SIDE booklist.

GEOGRAPHY ATAR - SIDE

Geography ATAR will be run by SIDE. Please refer to details above and SIDE booklist.

HEALTH ATAR - SIDE

Health ATAR will be run by SIDE. Please refer to details above and SIDE booklist.

HUMAN BIOLOGY ATAR - SIDE

Human Biology ATAR will be run by SIDE. Please refer to details above and SIDE booklist.

INDONESIAN - SIDE

Indonesian will be run by SIDE. Please refer to details above and SIDE booklist.

MATHEMATICS SPECIALIST ATAR - SIDE

Mathematics Specialist ATAR will be run by SIDE. Please refer to details above and SIDE booklist.

MODERN HISTORY ATAR - SIDE

Modern History ATAR will be run by SIDE. Please refer to details above and SIDE booklist.

Number of Boxes ticked:	
Postage (Home delivery only)	\$0.00
ESTIMATED AMOUNT DUE (PRICES CORRECT AT 21/11/23)	\$